T 204 LEHSIA THE QI 2( ~ THEH SIS 3t

TH el 22 1t

Moy & g 29

Mer2tel Al =&

1%
o

2 A

DA HB L CP(E) - HRAY - BAS sl S
e cSH I T2 ° _I_ [= Bl e (] 04”:"%

22| 1t 765,778 1,202,447
= 129,175
= 636,603

MEto g & ot 249 631,618 1,068,287
= 129,175
L= 502,443

Met2tel XA 2 g 137,619 185,422
= 88,284
L= 49,335

IR OtMEA Y FHIKA 110,621 127,192
= 85,093
& 25,528

308 NXISHHSOIE 110,621 127,192
= 85,093
= 25,528

01 XM EXS 110,621 127,192
O M4 A EH 2 H| 110,621
= 85,093
= 25,528

ordzte|Hlel 8 L HMES &4 22,850 35,870

03 &S =& 2,850 3,000

03 AFIHRFAH| 2,850 3,000
Ot/ gRE= 2,850

308 AXEHHSOIH 20,000 30,000

01 MXEHIAELS 20,000 30,000
OEoetd2s 28 NE 20,000

S0 HEAE EX 4,148 22,360
= 3,191
= 957

308 XXX SOl 4,148 22,360
= 3,191
= 957

01 MHXSHIAEEXZ 4,148 22,360
Ss0|et8AlE 41X 4,148
= 3,191
& 957

oy 28 2 AlER= 137,094 126,260
= 40,891
= 96,203

=JtJ1et MA2el ¥ HI&UE 29 5,600 5,600
= 5,600

301 YptEaag 5,600 5,600
= 5,600
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